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QUESTION 1

Which methodis used to limit everyone to read access at the database level? 

A. inheritance 

B. propagation 

C. remote access 

D. specific access 

Correct Answer: D 

 

QUESTION 2

Which statement is true about baseline set definitions? 

A. Module level baselines are inhibited by baseline sets. 

B. A module can only be listed in one baseline set definition. 

C. Modules must be listed in the baseline set definition before the set iscreated. 

D. When a baseline set definition is copied, all baseline sets created from it are copied as well. 

Correct Answer: C 

 

QUESTION 3

According to the Standish Group, what percent of IT project failures result from poor requirements gathering, analysis,
and management? 

A. 30 to 40 percent 

B. 40 to 50 percent 

C. 50 to 60 percent 

D. 60 to 70 percent 

Correct Answer: D 

 

QUESTION 4

Which method is used to control the type and direction of all links? 

A. use link arrows 
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B. enable linkset control 

C. create linkset definitions 

D. create a mandatory default linkset pairing 

Correct Answer: D 

 

QUESTION 5

Which type of links are ignored when performing a suspect link analysis? 

A. in-links 

B. out-links 

C. external links 

D. suspect links 

Correct Answer: C 

 

QUESTION 6

Which command line switch directs the DOORS client on startup to a different database? 

A. -d 

B. -n 

C. -r 

D. –p 

Correct Answer: A 

 

 

QUESTION 7

Which type of DOORS user does NOT appear in the Manage Userstool? 

A. Standard 

B. Administrator 

C. Project Manager 

D. Database Manager 

Correct Answer: B 
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QUESTION 8

What is the containerused to store similar relationship types? 

A. folder 

B. linkset 

C. link module 

D. formal module 

Correct Answer: C 

 

QUESTION 9

What must be done to set up a module for shareable editing? 

A. lock all levels of the module 

B. create a baseline of the module 

C. log in with the Administratoraccount 

D. divide the module into editable sections 

Correct Answer: D 

 

QUESTION 10

Which command line switch defines the data location when creating an additional database? 

A. -d 

B. -l 

C. -p 

D. –s 

Correct Answer: D 

 

 

QUESTION 11

Which two levels in the database structure contain attributes? (Choose two.) 

A. object 
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B. project 

C. module 

D. database 

Correct Answer: AC 

 

QUESTION 12

Which two modules areinitially created in the Change Proposal System folder? (Choose two.) 

A. Groups 

B. Baselines 

C. Suggestions 

D. Change Proposal Users 

Correct Answer: CD 

 

QUESTION 13

What are two possible options when exporting DOORS data to HTML? (Choose two.) 

A. export current 

B. export all linked 

C. export all modules 

D. export part of a linked module 

Correct Answer: AB 

 

QUESTION 14

To which level in the typical database structure will users have the most access when using propagation? 

A. folder 

B. project 

C. module 

D. database 

Correct Answer: C 
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QUESTION 15

Which three elements are displayed in the Standard view? (Choose three.) 

A. clipboard 

B. ID column 

C. main column 

D. Module Explorer 

Correct Answer: BCD 
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